: I neither 1
I strongly I agree agree ‘ i strongly Mo «
Question agree nor disagree disagres Reply Valid Maan
disagree Replies
n B4 n % r 7 7 %% n %o no| Y%
QL 511100.00 101 0.00 01/0.00 |0 /10.006 |0 1/0.00 10 1000 5 5.00
Q2 4 11 80.00 111200010 (000 10 {000 1011000 110100015 4.80
Q32 51,100.00 |07 0.00 G000 11O 1000 1011000 11010005 5.00
Q4 411 80.00 11]20.00/[0||o.00 ||o]lo.0o |0||0.00 ||0]|0.00/|5 4.80
05 4 | 80.00 11120.00110 /G.00 110 110,00 {0 {]0.00 {0 10005 4.80
Much Better Worse Much
betier WOrse Mo
than Average than .
- : than than Reply Valid
Question average average i Mean
average. average. Replies
1] S n % n 7 n Y 1! S n o
10107 4118000111 {20,000 :|0.00 1011000110 |0.00 {16G110.0015 4.80 /
v o P
Q7 3160.001121140.00101/0.00 11011000 |0 {000 1010005 \ @.6@)
S T evseiioioess s \"‘"‘"
Tou Just Somewhat Teo
high, Somewhat | right low, low, Mo
Question too high {best slightly too Reply Walid Mo
much answer} || too little little Replies
n %o n 7 n B0 n %% n L7 i %o
08 01000 2 140,00 3.160.0010 0.00 01000110 10,005 3.40
Q9 2 140,00 12 ]140.00 111200006 0.00 04]0.00/(0,]0.00 15 4.20
Overall 4.60
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